STATE CORPORATION COMMISSION OF KANSAS	API NO. 15-	189-2	1503 ~000	<u>D</u>			
OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM ACC-1 WELL HISTORY	J.	Stevnes -					East
DESCRIPTION OF WELL AND LEASE	App	<u>NW</u> sec. 2	<u>9</u> тыр. <u>32</u>	SRge.	<u>36</u>	<u>X</u>	Hest
operator: License # 4549	4030	<u>"</u> Ft.	North from S	outheast	Corner	of Sec	tion
Name: <u>Anadarko Petroleum Corp.</u>	4030	Ft.	West from So TE: Locate we				
Address <u>P. O. Box 351</u>	Lease Name	Long "B"			•		-
		Hugoton					
City/State/Zip <u>Liberal, Kansas 67905-035</u> 1	Producing Fo	ormation	Chase				
Ourchaser: Northern Natural Gas Co.	ĺ	Ground 309					
(Transporter) perator Contact Person:		3015					
Phone (316) 624-6253	Total Depth			PBIV -			_
Contractor: Name: Gabbert-Jones, Inc.				- - - 49	950 520		
License: 5842 REC	EIVED			111	290 260		
Wellsite Geologist: NA	, ()(4) (), (), ()			 	530 100	l l	
esignate Type of Completion AUG 2	3 1991			1 1 1 1	70 40 Å	İ	
	noith				310 H	†	
OilSWDTemp. AbdWich	a, Novers				iso 20	1	
Gas S_C Inj Delayed Comp Dry Other (Core, Water Supply, etc.)				99	90		
f OWNO: old well info as follows:				3:	30		
Operator:		5280 4950 4620 4290 3960 3630	2970 2970 2640 2310 1980 1650	930 330	A	!FI	
Well Name:	Amount of Su	urface Pipe So			8	'	Feet
Comp. Date Old Total Depth	ŀ	age Cementing	Collar Used?		_Yes .	X	_ No
rilling Method:X_ Mud Rotary Air Rotary Cable	If yes, show	depth set _	· · · · · · · · · · · · · · · · · · ·			1	Feet
	If Alternate	e II completio	on, cement ci	rculated	from _		
	feet depth 1	to	w/ _	_	_	sx (emt.
INSTRUCTIONS: This form shall be completed in triplicate and Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will I writing and submitted with the form. See rule 82-3-wireline logs and drillers time log shall be attached with form with all plugged wells. Submit CP-111 form with a conversion of a well requires filing of ACO-2 within 120 days	of the spud of be held confid 107 for confid this form. Al ll temporarily	date of any we dential for a dentiality in LL CEMENTING y abandoned we	ell. Rule period of 12 excess of 12 TICKETS MUST ells. Any r	82-3-130, months i months. BE ATTACH	82-3 f requ One co ED. So	3-107 a wested opy of a wbmit Ca	in ell
all requirements of the statutes, rules and regulations promulation from the statements herein are complete and correct to the	gated to regul he best of my	late the oil a knowledge.	nd gas indust	ry have be	en tul	ly compi	lied
Beverly J. Williams itle Engineering Technician Bushing Technician Date 83	21-91	CK	K.C.C. OFFIC Letter of Con Wireline Log Orillers Time	fidential Received	ity Att	tached	
9 1. A sworn to before me this Alsa day of Cult	yeu.		Distri CC	bution SWD/Rep		VCDA	
lotary Public (Klystolis		·	GS	Plug	(85)	_NGPA _Other	
ate Commission Expires CHERYL STEER Notary Purity - State of My Appt. Expires (0-(-)-					(5)06	ecify)	
- way Apple Exhibits (O)	<u> </u>	1			-	!	

Operator Name Anada	arko Petrol	eum Corporation	Lease Name	Long "B	"	Well # .	1H /
		\Box			Stevens	5 %. <u>11</u> *	71.112
Sec. 29 Twp. 32	S Rge 36	☐ East	The State of the S	75		STOPELL A ABLA QABBA GALA	\$2°
INSTRUCTIONS: Show interval tested, tim	important tops ne tool open a s, bottom hole	and base of formation and closed, flowing a temperature, fluid re	ons penetrated. and shut-in pres	Detail all ssures, wheti	her shut-in pro	all drill ssure read	hed static level,
Drill Stem Tests Tak (Attach Additiona		Yes X No			Formation Desc	ription	-
Samples Sent to Geol	ogical Survey	☐ Yes ☒ No			☑ Log □	Sample	
Cores Taken	-	Tes X No	Name		Top	Bott	ca .
Electric Log Run		☐ Yes ☒ No	Blaine		1099	12	
(Submit Copy.)			Cedar Hi	.11s	1245	14	
•		·	Stone Co	rral	1708	17	
			Chase Council	Crove	2604 2904	29 NA	
•			Council	GIOA G	2704	30	
		*		· -			
					•		
·					·		
	Report a	CASING RECORD	New U	sed ntermediate,	production, et	B	<u> </u>
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12 1/4	8 5/8	24	628	Pozmix &	350	2% cc
Production	7 7/8	5 1/2	14	3010	Class "C"	265	3% cc 20% DCD
·						<u></u>	10% DCD
Shots Per Foot	PERFORATION Specify Foota	N RECORD ge of Each Interval F	Perforated		Fracture, Shot, d Kind of Mater		ueeze Record Depth
2		2902-2895, <u>2</u> 87		A/2200 g	als 15% Fe-E	HCL acid	2895-2920
2	2806-40 2 2620-28	<u> 2751–96. 2704–30</u>	2652-89.		พ/17.100 ตลา		<u>1. 2620-2870</u>
	2020_20				inked gelled		00
-	·			wtr + 32	3.000 # 12/20) sd.	
TUBING RECORD None	Size	Set At	Packer At	Liner Run	☐ _{Yes} 🏻	No	
Date of First Produc	etion Producia	ng Hethod X Flowing	Pumping G	as Lift 🔲 (Other (Explain)		
Estimated Production Per 24 Hours	, ,	Bbls. Gas		r _ 8bls.	Gas-Oil	Ratio	Gravity
Disposition of Gas:			THOO OF COMPLETE	CNI		Р	roduction Interval
☐ Vented ☒ Sold	Used on !		_	_	oually Completed	_	
(If vented, su	bmit ACO-18.)	_ ·	(Specify)		4		2620-2920 O.A
		— Other		WENTO	I ACCOUNTAGE A	-	2020-2720 U.A.
•			n ng taki m	in the straightful of	· 1)	· · -	· · · · · · · ·
	•		£		* 9		

: .



DOWELL SCHLUMBERGER INCORPORATED

FIELD COPY

INVOICE

REMIT TO:

ORIGINAL

P 0 BOX 201556 HOUSTON TX 77216 INVOICE DATE

0312

554020 ANADARKO PETROLEUM CORP

BOX 351 LIBERAL

KS 67901

PAGE

INVOICE NUMBER

03-12-3839

TYPE SERVICE

CEMENTING

CEMENT SURFACE

WELL NAME / JOB SITE	TE STATE COUNTY / CITY		SERVICE FROM LOCATION	SHIPPED VIA	CUSTOMER P.O. NO./REF.	
LONG R SH	KS.	1 STEVENS -	IN XZZEZ	26	the conference of the conference of the conference of	
LOCATION / PLANT ADDRESS			DATE OF SERVICE ORDER	CUSTOMER OR AUTHORIZED REPRESENTATIVE		
SEC 29-328-36M			96/95/91	JTM BARLON		

TEN CODE	DESCRIPTION		HOM	QTY	UNIT PRICE	AMOUNT
959200062	MILEAGE, ALL OTHER EQUIPMENT		114	30	2,6500	79.50
059697000	PACR TREAT ANALYSIS RECORDER		.108	1	125,0000	125,00
102871010	CSNG CHINT 501-1000' 1ST 8 HR		8HR	1	679.0000	670.00
049102000	TRANSPORTATION CONT TON MILE		Νī	493	. 8000	394.40
049100000	SERVICE CHE CEMENT MATE LAND		CFT	366	1.1500	420.90
040015000	0909, CEHENT CLASS H		CFT	305	7.2500	2,211.25
045008000	D35, LITEPOZ 3 EXTENDER		CFT	45	3.5000	157.59
067005100	SI.CALCIUM CHLORIDE		LBS	799	.3400	271.66
044003025	D29. CELLOPHANE FLAKES		1.85	88	1.4500	127.60
056704085	PLUG CENG 8-5/8" TOP AL CORE		EA	1	150.0000	150.00
	DISCOUNT - HATERTAL		1 / 3	101	1.8008576 41 11	817.05-
	DISCOUNT - SERVICE			5 0	T. Tark to Bear	473.14-
					SUR TOTAL	3,317.62
M C	STATE TAX ON	Sec. 10. 20.27 (1997)	4	er ja p a , casa.	2.100.97	89.29

4594 2041 Jan Bailan

RECEIVED

STATE CORPORATION COMMISSION

AMOUNT DUE -- 3,496.91

AUG 2 3 1991

CONSERVATION OF JULY WILLIAM

6-13-91

WITH QUESTIONS CALL 316-356-1272
FEDERAL TAX ID \$ 38-239-7173
TERMS -- NET 30 DAYS DUE ON OR REFORE JUL 05, 1991

THANK YOU. WE APPRECIATE YOUR BUSINESS.

R A ADAMTAK

WELL LEASE NO./PLANT NAME

JOHN SHILLING

INVOICE

019595



A Halliburton Company

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

COMPANY TRUCK

DATE

16838

141965 06/07/1991 WELL/PLANT OWNER STATE

UNVOICE NO.

LONG "B" 1-H		STEVENS		KS	SAME			
SERVICE LOCATION CONTRA		CTOR JOB PURPOSE			TICKET DATE			
LIBERAL	(GABBERT &	JONES 11	CEMENT PRODUCT	TION C	ASING	06/0	7/1991
ACCT. NO.	CUSTOMER AGE	NT	VENDOR NO.	CUSTOMER P.O.	NUMBER	SH	IIPPED VIA	FILE NO.

WELL/PLANT LOCATION

33876

ANADARKO PETROLEUM CORP P. O. BOX 351 LIBERAL, KS 67905-0351

DIRECT CORRESPONDENCE TO: FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DECOMPTION .				1	N.	
	DESCRIPTION	QUANTITY	U/M	UNIT PRICE		AMOUNT	
	EA - MID CONTINENT						
000-117	MILEAGE	3 2		2.60		83.20	
		1	UNT				
001-016	CEMENTING CASING	3015		1,185.00		1,185.00	
		1	1 6 TO 10 TO				
030-016	CEMENTING PLUG 5W ALUM TOP	5 1/2	THE CONTRACTOR OF THE CONTRACT	50.00		50.00	25
and the second second second			BA	and the second s			
018-315	MUD FLUSH	1260		.55		693.00	
218-738	CLAYFIX II	2	GAL	20.00		40.00	
16A	CASING SHOE - 8 5/8" 8RD THD.	1	EA	161.00		161.00	9
830.2171							
504-050	PREMIUM PLUS CEMENT	265		7.08		1,876.20	
507-210	FLOCELE	66		1.30		85.80	
508-143	DIACEL'D	4600		.42		1,932.00	
509-406	ANHYDROUS CALCIUM CHLORIDE	5		26.25		131.25	
500-207	BULK SERVICE CHARGE	555		1.15		638.25	
500-306	MILEAGE CMTG MAT DEL OR RETURN	119.904	TPLL	.80		95.92	
					201		
	INVOICE SUBTOTAL				6	6,971.62	
	INVOICE EGETOTEE			7	197	0,7.2.02	
	DISCOUNT- (BID)		1	14		1,742.90-	
	INVOICE BID AMOUNT	Jein	XII	all		5,228.72	
	211102011 222 111100111	1				~ ,	
	*-KANSAS STATE SALES	TAX		RECEIVED		158.41	
	*-SEWARD COUNTY SALE		STATE	CORPORATION COMMISS	ION	37.28	
	Bener & 1. Williams 1					ned and also have been and and also the	350
	Sur J. J. J. Dall	11_01		AUG 2 3 1991			
	4559-1041	N. 11				AL A	NE SONO
	214 014			CONSERVATION DOLLAR			
91	XII UUX	6-1	7-91	Wichita Kansas			
	1111						
	Chen teer					*	
1		`					
	INVOICE TOTAL - PLEASE PAY THI	S AMOUNT ==	25 00 25 23		-	\$5,424.41	
	TERMS INVOICES DAVABLE NET BY THE 20TH OF THE FO	ULOWING MONTH AFTER	DATE OF	INVOICE LIPON			

GABBERT-JONES, INC. DRILLERS' WELL LOG ORIGINAL

WELL NAME

LONG "B" 1-H

SEC: 29-32S-36W

STEVENS COUNTY, KANSAS

COMMENCED:

6-5-91

COMPLETED:

6-8-91

OPERATOR:

ANADARKO PETROLEUM CORPORATION

De	epth	Formation	Remarks
From	То		
0	633	Sand-Clay	,
633	1255	Redbed	Ran 15 jts of 24# 8 5/8" csg
1255	1420	Glorietta Sand	LD @ 633' W/180 sks 75/25 Posmix - 2% CC - 1/4# CF
1420	3015	Shale	170 sks Commom - 3% CC 1/4# CF PD @ 5:15 PM 6-5-91
	3015 TD		Ran 71 jts of 14# 5 1/2" csg LD @ 3010' W/225 sks Class C 20% DCD - 2% CC - 1/4# CF 40 sks Class C - 10% DCD 2% CC - 1/4 # CF PD @ 1:45 AM 6-8-91 RR @ 2:45 AM 6-8-91

RECEIVED STATE CORPUS ATION COMMISSION

AUG 2 3 1991

STATE OF KANSAS

COUNTY OF SEDGWICK

I, the undersigned, being duly sworn on oath, state that the above Drillers! Well Log is true and correct to the best of my knowledge and belief and according to the records of this office.

GABBERT-JONES, INC.

James S. Sutton, II. -- President

Subscribed & sworn to before me this
______10th Day Of June 1991

Jola Genore Costa

Lola Lenore Costa

LOLA LENORE COSTA NOTARY PUBLIC STATE OF KANSAS My Appl. Exp. Nov. 21, 1892 My commission expires Nov. 21, 1992